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Percentage Part 1:- https://youtu.be/oNJhe2 -X2c ( Video Link)

. IS DI P ST H 10 % BT SSATHT BIT 2, TN BT Tl T febet % SAUHT @l b BRAT B, R
o I B 3rfIReh Wl 7 ISHT U ?

If the price of coffee increases by 10%, then how many percent will the housewife have to

reduce her expenditure, so that she will not have to spend any extra expenditure?
1 3 1 2
(a) QE% (b) 8;% (c) 85% (d) 85%
. T IR TATeTeh (T TiTeT creiT fH13e a5 A ¥ B ol &1 1 el &, Tl a8 o dTel &9 5 20%
T T AT TS, T S U AT H fIper Hfcrerdt &t gfeg et alt 2

A car driver complete a distance from A to B in a fixed time with fixed speed, if he wants to

decrease by 20% in the time it takes, then what percentage increase in his speed?

. UCIeT &1 I H 25% I gfg Bt & | AT YIS T U H fobet fcrere &+t & <, fob ey uge St
B 8?

The price of petrol increases by 25%. By how much percent should the consumption of petrol
be reduced so that the expenditure does not change ?

(a) 20% (b) 25% (c) 18% (d) 16% ()15 %

. IS USIT BT 91T 20% I ST T Uh fch DT USier &b GUd H fha=it UfTerd et v oY amfeT &t
T I8 3B ?

If the price of petrol goes up by 20%, so how much percent reduction in the consumption of

petrol, should the expenditure stay the same?

(a) 13%% (b) 16%% (c)16§% (d) 62%
. TofY ar o A H 10% Y BT Y TS Y SIS Heot TREAT UTH R b folq Tt Teear o A H febe
% T gfg Dbl A |

If the value of a number decreases by 10%, then what percent increase in the number of new

to get the original number.

. 3TRICT bl IS | 20% T T T 715, AT Y& &theT UTH R b ol g39eh AISTs W foheieiT HcTer et
gfg T oMy 2

If the length of the rectangle was reduced by 20%, then what percentage increase in the width

should be increased to get the previous area?
. IS <A BT o 7% I ST, TS feberT Hicrerey <=t T ST & o <, TRy arfcrfeh @l 7 81 2
Price of sugar rises by 7%. By how much percent should the consumption of sugar be reduced

so that the expenditure does not change ?

| T BT T oG ¥ B G 20% Y ekl B et | A St ot @ O Teet Aot
IRISR AT 8, AT b HoigR! & febeiet Tfereret &t gieg byt gt 2

The company has reduced the employee's wages by 20%. If his wage is to be brought back to
the first wage, then what percentage of his wages will have to be increased?

(a) 20.5 % (b) 25% (c) 22.5% (d) 20%


https://youtu.be/oNJhe2_-X2c

9. I P DI T 16/kg A T 20/kg BT UR I WU H febel HITTT bl HHT Dl STY T Tref b 1T
aREcH T 81 ?
If the price of the item changes from ¥ 16 / kg to ¥ 20 / kg, then what percentage of its
consumption should be reduce so that the expenditure does not change?

10.715 T DM T 20/kg A T 18/kg B IR IHD G H FIT JSATT [T S T G &Y 1fer sraRafca
%@ ?
If the price of the wheat changes from ¥ 20 / kg to ¥ 16 / kg, then what percentage of its
consumption should be change so that the expenditure does not change?

11. <A BT TR He T 20/kg I IR T 25/kg Bl SATAT & | AI+1T BT IUTIT febetT TfTeret &b &R <1
IR ATy AT IR 9T 7 9 2
The market price of sugar increases from ¥ 20 / kg to ¥ 25 / kg. What percentage use of sugar
should be reduce so that the expenditure does not change?
(a) 20% (b) 25% (c) 23% (d) 18%

12. fS = BT 91T F6.00/kg J TG T 7.50/kg B SITAT & Y IS ATed fove= fererd =T oT SUANT &

T {3 I Y Af § gRec 7 8 2
The market price of sugar increases from ¥ 6.00 / kg to ¥ 7.50 / kg. What percentage use of

sugar should be reduce so that the expenditure does not change?

Percentage Part 2:- https://youtu.be/1TnFPHCIWPA

1. IR & aa 5 10% T BT R Y TS TAT T1 H IGH 10% DT gl DR &l T3, 3T IHDT o e
Ugel &b daT & e 31firem/aH & 2

Nitin's salary was reduced by 10% and later it was increased by 10%, now how much his

salary is more/less than the previous salary?

(a) I_TR & (Equal) (b) 1% 31 (1% more)
(C) 1% T ( 1% less) (d) 5% 3TRIH( 5% more)

2. IR FeT PR H 20% gfeg B UR UHT DT GUT 20% B PR &1 911, T T g H feberT wfereres 1
37y gfg BN 2

If 20% increase in water tax then consumption is reduced by 20%, then what percentage of the
total expenditure will be increased or decreased?
(a) 5% @I (5% reduction ) (b) 4% @I (4% reduction)
(c) 4% él_fi;’ (4% increase) (d) 5% Eﬁg( 5% increase)

3. 3ST BT dc T 500 F 10% 31 81 TIT | b HE a1 A 10% oIS AT | 39D F1S IFehT el
faperT 8IIT?

Anuj's salary increased by 10% from 500. After one month the salary decreased by 10%. After

this, what will be his salary?
(a) ¥ 500 (b) T 495 (c) ¥ 505 (d) None of these


https://youtu.be/1TnFPHCIWPA

4. W ghaR fpdll ave T DI 20% TGTPR 3Tl BRI &, R IH TR 10% T BT @ebr Jacl &,
STV D ST AT &I+ BT T T 81T 2

A shopkeeper marked the price of an item by increasing 20%, then sells it on 10% discount,
then what will be the percentage of its profit or loss?

5. 3ITI I oFaTS § 10% b gl Pl & 3R TSI H 20% I Jfg bl TS, T &thel § T GRec 81T 2
The length of the rectangle has been increased by 10% and the width was increased by 20%,

what would be the change in the area?

6. T I D ofFalTs AR AISTE ST H 10 % - 10 % DT HH! DI T3, T IAD el H T gRac arT
?
If the length and width of a rectangle decrease by 10% - 10%, then what will be the change in

its area?
7. U PR el o] bl chIHeT 10% TR Sffehct pRall &, fOhR I UR 20% bl BT SR 94l &, Al
I fepa=y Trfrerd a1 ey T &1f fie 2

A shopkeeper raises the price of an item by 10%, then sells it at 20% discount, then what

percentage of profit or loss did he get?

8. U GHMER AT TRIGH THT 10% bl IS BT &, SR ot T Y 10% bT §HT BRell &,
9 RRART 5 IHD AT BT % FIT 81T 2
A shopkeeper falsifies 10% on the goods while buying, and also sells dishonesty of 10% when

selling, in this case what will be the percentage of his profit?

9. <Y &b AT H 20% T PHHI BT TS R B Y d1E IHD I H 20% DT g DI T8, Il S1ueh b
AT I R I F T 400 B 8, TN S T 7eT I feberiT T2

The salary of the Deepak was reduced by 20%, and after some time, his salary was increased
by 20%, if the new salary of Deepak is less than ¥ 400 from old salary, what was the original
salary of the Deepak?

10. e G BT o 10% A qG1 b dTa 5% PH 81 T | Rie & Jod H THdT aRai foperr 872
The value of a book decreased by 5% after increasing by 10%. What is the effective change in

the value of the book?

(a) 4.2% increase  (b) 4.5% increase  (c) 5% increase (d) 5.5% increase
11 Tbef) T &Y bIAeT A 1% ol &R A gl b TS U 1A & r% DT X J A {1 1T | AfS FelI+7e e 7 1 off
Y I T T i off ;

The price of an article was increased by r% and the new price was decreased by r%. If the latest

price was ¥ 1, then the original price was :

A)F1 BT 1T 07— D)3 L
A)Z B ©) X 50002 AT

12.Te af T ST 10% T & ST &, T & &het H febeT HIcreret &t gfeg 8l ST 2
If the side of a square is increased by 10%, then what percentage will increase in the area of
the square?
(a) 20% (b) 21% (c) 22% (d) 18%



13.

14.

Tep R T AT H SHIIR &1 R 10% T AR gfegedl TS | G: ] ehl AR DA ITH PR b
10 it 5 Bt 3 ey sifreTe Y et et @i 2

The price of an article was increased two times successively by 10% each time. By what
percent should the new price be reduced so as to

restore the original price.

(a) 15% (b) 17.36% () 17% (d) 16.36%

Ueh T DY I8l 20% TGHIT ST & 3R R 20% 3R TRIT ST 7 | T8 T8 TR i fva wferera
FCTIT SR T 3R H¥edT UTH &1 Jdb 2

A number is increased by 20% and then again by 20%. By what percent should the increased

number be reduced so as to get back the original number ?

Percentage Part 3:- https://youtu.be/NrrBsIFHxrA

. TIE T DI 7 20% PHT BIFT TR Teb &V T 600 H 10 fhaAlm 1 1ferp TRIS Al &, Al 718 ol 15

DI TR YR hIweT owrer: fobert off 2
If there is a 20% reduction in the price of wheat, then a housewife can buy 10 kg more wheat

in ¥ 600, then what are the new price and the old price of wheat respectively?

Wl B DI H 25% T DA 8F IR T Bl W dTelT fh T 240 H 2 fHeAIT e 31fed BRIg
e & | 1 thel &I BT §8 3R GRIHT DI HHeT: febeii & 2
If the price of fruit is reduced by 25%, a person can purchase 2 kg more fruit in ¥ 240. So how

much are the fruit decreased and the old price respectively?

ART Y HFT H 10% HY HHT 8 IR U @fth 270 H 250 I AT 1P @RI [T &, AT AT hr
QR 3R 8 DI shwer: fopat 872
When tea price decreases by 10%, one person can buy 250 grams more tea in ¥ 270, how

much is the old and new price of tea, respectively?

HeR BT HIHT H 20% Dl HH 89 TR TP Afch T25 H 5 TR 3ep WIS FobdT &, AT AN b ac= =
3R URRYE HHd e fha-T 82

If the cost of orange is reduced by 20%, then one person can buy 5 oranges more in ¥ 25, then

how much is the present and initial price of oranges respectively?

e T BT H 20% DI B! & IR U fch 3.5 fobell Fraet STaT ¥ 77 H BRI UTd &, A drael & gl
I TfkT fopatr gt :

A reduction of 20% in the price of rice enables a person to buy 3.5 kg more for ¥ 77. Then the original
price of rice per kg is:

(A)¥4.00 (B)¥5.00 (C)¥4.50 (D) ¥5.50


https://youtu.be/NrrBsIFHxrA

. T DT DHHT H 20% DT BHT A A 3{fhdT T 100 H 5 A M1 WIS Fehcll & | AT AT bl Ugel T
1A fepeir ofi?

If the orange price decreases by 20%, then Ankita can buy 5 oranges more in ¥10. So what
was the price of apple?

. A BT BT F 20% DY FH &I ST &, AT U ik 319 36 T H 500 T AT 1ffe @RIG FeheTT 2,
ar ufer fob.am. ==Y &t STRYe dhia = oft?

The price of sugar is reduced by 20%. Now a person can buy 500g more sugar for Rs. 36. The
original price of the sugar per kilogram was:-

. T8 & T H 20% T HHT S DRUT Y12 320 B H 5 fbuT 15 31ereh @RIS Febell &, o1 71 bl TR
qo ( Hfer fpaT ) &/ 2 2

A reduction of 20% in the price of wheat enables Bhuvnesh to buy 5 kg more wheat for Rs.
320. The original rate ( in rupees per kg) of wheat was :-

. T P HT H 10% T BT I B DRI, T Afeh 270 2 H 1 13 T7 =T 31feres TRig FeberT &, ar wfer
fehetTaTeT <11 BT SR Hedr STl B ?

When the price of sugar decreased by 10%, a man could buy 1 kg more for Rs. 270. Then the

original price of sugar per kg is:-

10. 9T BT HFT H 10% T HHT & R Ub Afth Rs. 54 F 10 T 31 WRIS AhdT &, T BT B a1

Ui ol AT Pt HIHd ST B -

A reduction of 10% in the price of an apple enable a man to buy 10 apples more for Rs. 54.

The reduced price of apples per dozen is:-

Percentage Part 4:- https://lyoutu.be/RtZbv-X7fQqg

et aRYe  UTT 81 & folq. =IAaH 40% 3id aTfen o, Tap fmelf 178 i uTex 22 3iehT A U &
T, AT OIS 5 SIDHcT 37 b 22

In an examination a candidate must secure 40% marks to pass. A candidate, who gets 178
marks, fails by 22 marks. Find the maximum marks for the examination?

. Tt ol & ur 81 & foTq =g7eH 30% 3iep afe &, Uap fmeif 150 i urev 30 3iehT A the &
T, A1 ORIET W Sfferehe 37eh foh 22

In an examination a candidate must secure 30% marks to pass. A candidate, who gets 150

marks, fails by 30 marks. Find the maximum marks for the examination?

. Tt odte 5 urt 8 & foTq =g 30% 3ie =feT o, e f@melf 230 3feh uTav 20 3fepT A T &
T, AT IRYET H SIfha 31k faha a2

In an examination a candidate must secure 30% marks to pass. A candidate, who gets 230

marks, passes by 20 marks. Find the maximum marks for the examination?


https://youtu.be/RtZbv-X7fQg

. Y ater & e faemeff 30% 37 9Ty 10 37T I thel & T-T, STafeh 31 faemeff 40% 37 g1ens 10
37epT I T BT 1T, AT UM UT B b foTy =g7eH 37 febeT o2

A candidate who scores 30% fails by 10 marks, while another candidate who scores 40%

marks gets 10 more marks than minimum pass marks. The minimum marks required to pass
is:

. Tt uRYer o wep faremelf 28% 37eh UTahR 14 37T A UheT 8l T3IT, STalfch 31 faremeff 32% 3ieh T 6
37epT I el B 1T, AT URITT UT 81 o foTy =g7eH 37 febe 97

A candidate who scores 28% fails by 14 marks, while another candidate who scores 32%

marks fails by 6 marks. The minimum marks required to pass is:
. et e o Gep ferenmeff 40% 3ie UTeny 15 3fepT A UT &1 T, STeifh e ST femeff 38% 37eh rehy
9 3feT A U BT T, AT URI&T URT B+ o folq =IACHT 37eh fahet 92

In the examination, a student got 40% marks and passed by 15 marks, while another student

got 38% and passed by 9 marks, what was the minimum mark for passing the examination is?
. T WRIemeiT 30% 37 HTH @R 5 37ehT A (il &1 S &, W 31y fenmeff 40% 31 UTH $<eh
STILD ~IATH bl I 10 37eh 3TTefeh TTH el &, ST 81 b fofU 3ATaees =g 3iep fope & 2

A candidate who scores 30% fails by 5 marks, while another candidate who scores 40% marks

gets 10 more marks than minimum pass marks. The minimum marks required to pass are:

(a) 50 (b) 100 ()70 (d) 150

. T URIEIT H B AT el BT 20% ITH PR &, TAT 5 37ebi I SFTHN0T &I AT & | 37T BT S

ST 37ehT BT 30% TTH BRa &, ST 37T A 20 37e 371 UTH el &, ST & b folg

LT Tfcrerd STt o |

A candidate who scores 20% fails by 5 marks, while another candidate who scores 30% marks

gets 20 more marks than minimum pass marks. The minimum percentage marks required to

pass the exam is:

(a) 20% (b) 22% (c) 23% (d) 32% (e) 33%

. T URIET H IHT B o foTq TR afeh T 36% BT AT | U BIF BT 113 37 HTH gV 3R 34
85 37T { TIUT By febam 1T | et quifep febeir & 2

To pass an examination, the marks should be 36% of maximum marks. A student got 113

marks and it was declared as failed by 85 marks. How much is the total marks?

(a) 500 (b) 550 (c) 640 (d) 900



Percentage Part 5:- https://youtu.be/gA5nf1KQIn0

. U ORI 5 32% farermeff i o, 40% farermeff fas & qour 20% fermeff T fivg 7 sl gy,
feberT mifcreret feremeff @ farwer & Siiof gg?

In an examination, 32% of the students in Mathematics, 40% in science and 20% in both
subject got failed, then what percentage of students passed in both subjects?

(a) 60% (b) 52% (c) 48% (d) 72% (e) None of these

. T URIET H 70% farermeff aford #, 65% frermelf siof 7 ury gu afe 27% faemeff <1 fawr o thet gu
8l, 37K 248 fEmeff et fieTrer ST faw o ur 8¢ 81 €, AT ot [enfRiat & Fear et 82

In an examination, 70% of the students in mathematics, 65% of the students passed in
English, 27% were failed in both subjects, and 248 students passed in both subjects, how
much is the total number of students?

. Tt alem 5 70% ©T SSH H, 80% BT 0T A U 8U STaifch 10% &1 fawy H thef g€, fe a1
eIy foeTTeny et 144 BT IR §Y &, AT ol BT T AT fehet 82

In an examination, 70% of students in English, 80% of students passed in Mathematics

whereas 10% fails in both subjects. If in both the subjects together total 144 students are
passed, then how many are the total number of students?

. Tt ol F 42% & O H, 52% BT SIS H thef 87 STafd 17% ST 497 5 the €U, I a1
fasr & 46 B U 8T &, T et BT T AT fpeiil &7

In an examination, 42% failed in Mathematics and 52% failed in English. And 17% failed in
both the subjects, if 46 students passed in both subjects, so how much is the total number of

students?

(a) 100 (b) 200 (c) 300 (d) 350

. Tt e H ferenfRiat <t wam 200 & 1 60% fameiT fipdbe wWerd &, 30% féamelf gedret Werd & aerm
10% faremeff SHT Tt Werd & | W fenfefa &t wear ar & S 7 T fhdhe Weld & 31k 7 8 Feara
A & ?

The number of students in a class is 200. 60% of students play cricket, 30% play football and
10% of students play both. What is the number of students who neither play cricket nor
soccer?

(a) 50 (b) 36 (c) 20 (d) 15 (e) 40

. T A9 H 60% TG PedTel Weld &, 50% Fex BT, 30% Hexy ST Wel Wekd &, 6 et fbe
TfITT TSI DIg 7 Dlg Wl NI Tl & ?

60% of the members play football in a club, 50% member hockey, 30% of the member plays
both, then how many percent of the members plays any of the games?

. TP BT H 70% HHART A1 G &, 40% HHART Dicthl Ot § 3R 20% HHAR! AR G Hitht a1
dIc € 1 Y febem wfcrere et 7 At = 7 €1 il did €, SfR afe g7t W 15 &, @ pe
FaTiaT Y e fahae 872

In an office, 70% of workers drink tea, 40% drink coffee and 20% employees drink both tea
and coffee. So how many percent of employees neither drink tea nor coffee, and if their
number is 15, how much is the total number of employees?


https://youtu.be/gA5nf1KQln0

8.

10.

11.

Teh FeTdl § 60% Ry Eiehl Weld & | 50% PedTel AR 20% ST Wel Weld &, Al 63 Ty Pearel
T 1T AT ST WeT el & | 79,

60% of the members in a club play hockey. 50% of football and 20% play both, if 63 members
play soccer or hockey or both games. Then,

(i) PeT AT bl FAT feperT 872

What is the total number of members?

(if) fore e 1S e 8T Werd ?

How many members do not play any game?

U PIATAT H U HHART A1 AT Dith! e Ui 8 | AT 72% FHHaRT o/ O 8, 44% HHaRT
It T 8, T et DRI DT FEAT el 8, Al 40 HHART <RI AT DIy &1 It & 2

Each employee drinks tea or coffee in an office. If 72% employees drink tea, 44% of

employees drink coffee, how much is the total number of employees, if 40 employees drink
both tea and coffee?

Th SHTERT ¥ 600 16T &, UAD STAdh faal, IS AT ST 99T § §1 - FabelT & | TS 70% et
f&Y 3R 50% 3T SreAd &, AT ST ITTdh] T TIT FATSY S ST 1T ST Hhel & |

There are 600 students in a hostel, each student can speak in Hindi, English or both

languages. If 70% of the student speaks Hindi and 50% speak English, then tell the number of
students who can speak both languages.

et aYer 5 51% uxterelf 3ESf 5 thel §U 31IR 45% TIfOKT H theT gU, A 21% uRiemelf a1 fwar
thel 8U &1 31 169 Riamelf It gU &, AT et uRIerToial & Je fopert &7

In an exam 51% candidates failed in English and 45% failed in mathematics, if 21% of the
candidates were failed in both subjects and 169 candidates passed, then how many are the

total number of candidates?

Percentage Part 6:- https://youtu.be/ubseVINr8Z0

. U TR H 25% TRART & IIF B & 3R 15% & U PR &, 65% YRERT b URT 7 d R & 3R T

HIF | 2000 TRART & URT HR IR BT I & | 39 Ga¢ ¥ FfeiRad 5 F I F HUT Jar & ?

In a city, 25% of families have a phone and 15% have a car, 65% of families have neither car
nor phone. 2000 families have both cars and phones. Which of the following statements is
correct in this regard?

(1) 10% URART & I HR FR BF S & |

10% of the families have both cars and phones.

(2) 35% URART F I AT AT PREATA DS |

35% of families have either a car or a phone.

(3) TR H 40000 GRIR & £ |

There are 40000 families in the city.

(a) 1 and 2 are correct (b) 1 and 3 are correct

(c) 2 and 3 are correct (d) 1, 2 and 3 are correct


https://youtu.be/ubseVINr8Z0

2. TP A H TG dTel ATHAT H 5% JTAAT BT DI, AT AR MBI i+l 0N A&l &, 10% B =

T &, 20% DT DIl 3R IR IS &, 25% T JSHDIH 3R Hth! TS &, 25% DI JMGHDIT iR
R IS &, 55% DT DIthT TGS &, 50% BT AT 3iR 50% BT ATSHh T UG &, Ta-

5% of train travellers do not like coffee, tea and ice cream, 10% likes all these three choices,
20% likes coffee and tea, 25% likes ice cream and coffee, 25% likes ice cream and tea, 55%
likes coffee, 50% tea and 50% likes ice cream, then-

(i) ST AT T T R PHaeT DIl IS &, I J1HAAT T e & o= mferera :1feres & e
et JTFHHIH TS & ?

The number of passengers who only like coffee are how much percentage more than the

passengers who only like ice cream?

(a) 50% (b) 25% (c) 100% (d) None of these

(if) ST TR Y FT BT Hfrerd, fSepT 3 IeuTel § A HF I $HH 2 IS U4S & 2

Percentage of the number of passengers who prefer at least 2 of the 3 products?

(a) 40% (b) 45% (c) 50% (d) None of these

(iii) ST T &7 Ufrera RS2 IRy 37k SITSHhT URiE &, TR Pith! UNiS 18] & ?

The percentage of travellers who like tea and ice cream, but do not like coffee?

(@) 15% (b) 10% (€) 5% (d) None of these

. Tt oRterr 5 80% faremelT SISt H iUl 8T, 85% fameff 1for 7 3ilR 75% feemeff sisf va wfor & ol

U | I 40 faemmeff ST faway & argiiof 89 &1, ar et fenfely & et gl -

In an examination, 80% of the students passed in English, 85% in Mathematics and 75% in both

English and Mathematics. If 40 students failed in both the subjects. Find the total number of students
(A) 100 (B) 200 (C) 250 (D) 400

. T RIET A 80% farermeff st A Il Y, 70% TORT A WReq] 10% 37 &1 4wl ¥ il 8¢ | A 144

SHHISAR S SFT ISl 7 I<T0T gY A IHIGART b Goot T febeit & 2

In an examination 70% of the candidates passed in English, 80% passed in Mathematics. 10%

failed in both the subjects if 144 candidates passed in both, the total number of candidates was
(A) 420 (B) 240 (C) 402 (D) 204

. U P& H 60% BT (&8l 7 TheT AT 45% BTF TP H Ahel 81 & | AR ITH I 25% B SHT

fasat & et I &, AT QI fasRiT o fepert fcreret BT 31t U 2

In a class 60% of the students pass in Hindi and 45% pass in Sanskrit. If 25% of them pass in

both subjects, what percentage of the students fail in both the subjects ?

. T GRNEIT H, 34% WfRINTY TR § qoIT 42% Afcrantt SRS ¥ s/athet 81 & | AT 20% Rt aFr
fsRaY & arAthet §Y & Al febaT Hfcrere SfcRImY ST vt  |ehet 81T & 2

In an examination, 34% failed in Mathematics and 42% failed in English. If 20% failed in both
the subjects, the percentage of students who passed in both subjects was:-

. BTl P U B H 70% BIF S H 3R 65% BT feal H dlet Febdl & | A 27% BH SF1 H 4 Plg
o} 79T 2T SieT Fopd &, AT foha=T Uferd B ST 99TV i Hehdl & ?

In a group of students, 70% can speak English and 65% can speak Hindi. If 27% of the

students can speak none of the two languages, then what percent of the group can speak both

the languages ?



. T URIET H 60% BT SSHT H TAT 70% B T 5 Ghel 8 <lfchT 20% B 1 (92l H SRIheT
81 7Y gfe 2500 B &1 ST H Hehet §U &1, AT URIET H et BT el T T &l

In an examination, 60% of the candidates passed in English and 70% of the candidates
passed in Mathematics, but 20% failed in both of these subjects. If 2500 candidates passed in

both the subjects, the number of candidates who appeared at the examination was:
. TP TRIET 5 80% TS STSIT H TRAT 85% b 0T H Ahed BIT 81 STa(h 75% IS ST [Iua o
el BId 8l TS 45 STgeh S A5l H 31t X8, T URIE H et fbe eTsep 22

In an examination, 80% of the boys passed in English and 85% passed in Mathematics, while

75% passed in both. If 45 boys failed in both. The number of boys who sat for the exanimation

was:

Percentage Part 7:- https://youtu.be/D7wal6KVVz4

. T G H 2 IHIGIR o, 55% T IR STic aTelT SR 600 Hl A S 1T, & et it 7l
STel T ?
In an election between two candidates, a candidate who gets 55% of the votes is elected by a
majority of 600 votes. What is the total number of votes polled?

or
Teh AT H 2 IHHIGAR o, 45% H UTehR B8R ATelT SFHGR 600 Hdl A B8R M1, AT e fohal el STef
T ?
In an election between two candidates, a candidate who gets 45% of the votes is lost the
election by of 600 votes. What is the total number of votes polled?
. U AT H 2 IHIGIR 2, 52% A TR SHic aTel] SHIGR 1600 Fell I Siid 4T |
In an election between two candidates, a candidate who gets 52% of the votes is elected by a
majority of 1600 votes.
(i) PeT febcT A STel TRI?
What is the total number of votes polled?
(if) ER dTel SHIGR B fhaw 7 firer?
How many votes were polled to the losing candidate?
. T G H 10% HIGIATS] = 37U HATMRDPR BT HANT ol T, 3R ST aTelT IHISIR ol Hell BT
50% HeT 4TepR 1200 Hel | ST T, AT e AIIATSA bl HEAT ST DITY?
10% of voters did not cast their vote in an election, a candidate who gets 50% of the total votes

is elected by a majority of 1200 votes. What was the total number of voters?

. TP AT H 10% HISTISN 7 39 HATIRIDBR T JRINT 81 T, 3R SHie drett IHISdR STef Y Hdlt
BT 55% H TR 2700 HAT A STl TRIT, el FARTATAT T AT S HIFAT?

10% of voters did not cast their vote in an election, a candidate who gets 55% of the polled

votes is elected by a majority of 2700 votes. What was the total number of voters?


https://youtu.be/D7wal6KVVz4

10.

11.

Teh TG H 2 IFHIEIR &,IFH 20% He 374 SN g 70, ST drefl I=HiedR 3¢ 7l el 60% el
TR 6400 HAT A ST TRAT, el HAGTISNT bl HET ST ITTY?

In an election between two candidates 20% of votes were declared invalid, winning candidate

got 60% of the valid votes and won by 6400 votes, what was the total number of voters?

Tep YT H 2 JHIGIR &, AT H 75% HIT3H 7 A0 HADIR T JRANT e, 775 & 2% Hell Bl
3Fde S fpT TR, ST aTelT SHIGR d Al BT 75% Fel UTH fohaT, ST fob 9261 ff | Jaarar =t
o e HATTRN T AT fbe & 2

In an election between two candidates in an election, 75% of voters cast their votes, out of
which 2% of the votes were declared invalid. A candidate who got 9261 votes which were 75%
of the total valid votes. Find the total number of voters enrolled on the voter’s list?

. U IDICRT H 40% T ST H 8, AT BT 60% AP 3R 40% &t 7 81 If &<l & qeciep bl

AT 4800 &, Tl P YRciepl T FET febei & 2

In a library 40% of books are in English, 60% of the remaining are in Sanskrit and 40% are in
Hindi. If the number of Hindi books is 4800, how much is the total number of books?

oY QeTepTerd H 20% J%cieh SRISHT 91N H &, T A9 T 50% YReieh faal w7eT A 81 af 99 900
QRIS 31T Q1T ATST H & 7Y JIobTerd H Pl YRaiabl i AT febei1 & 2

In a library, 20% of books are in English language, and 50% of the remaining books are in

Hindi language. If the remaining 900 books are in other regional languages, then how much is
the total number of books in the library?

Teh AT H 8% HIRTTRAT = A T8l STel | $9 AT H el 2 IHIGR o | oI @l et &b 48% UTH
U AT IG 1100 Hell I faISrr mH Y A AT & et fopeiet Heiaralr 97

8% of the voters in an election did not cast their votes. In this election, there were only two
candidates. The winner by obtaining 48% of the total votes, defeated his contestant by 1100

votes. The total number of voters in the election was:

(a) 21000 (c) 22000 (b) 23500 (d) 27500

Th A § o SR 21 Uget SFHIEdR T 40% dle fHel qoim gur SHHIedR &1 36% dre firell af
et 36000 dTT fiyet, AT AR IHHIGAR T fbe dle TH g 2.

In an election, there are three can candidates contested. The first candidate got 40% votes
and the second got 36% votes. If total number of votes polled were 36000, find the number of
votes got by the 3rd candidate.

(a) 8040 (b) 9360 (c) 8640 (d) 9640

Tep fAeTIer T AT A b IHISIR T 49 Alet T 55% ale Hell et Alet BT 2% dIc e B R
& T Af FATATSAT T ot FEAT 104000 7, AT fobeT dg Al IHIGaR BT fHel?

In an assembly election, a candidate got 55% of the total valid votes. 2% of the total votes
were declared invalid. If the total number of voters is 104000, then the number of valid votes
polled in favour of the candidate is :

(a) 56506 (b) 56560 (c) 56650 (d) 56056



Percentage Part 8:- https://youtu.be/fh1YV1ICWQZM

. 3T 7 79T it BT 65% ALY H AT 20% HedT Aol TRia H T & ol | Al IFD I 37
¥ 1305 & &1, o I febeT @l bR foT 2

Anil spent 65% of his capital in machinery and 20% to buy raw material. If he has now Rs 1305

left. How much did he spend?

(@)¥7395 (b)T8720 (c)T8700 (d)T 8280 (e)T 8050

. Uep faremeff 3197 3000 BHYRT BT 30% 4 H, 35% Yoob fbairdl H , 25% HAINSH H Wef bRl &
| IS 5 AT A BT 10% I H G BT & , AT IFbI Th 18 H g9 T BT 2

A student spent his 30% of ¥3000 scholarship in the food, 35% in the books, 25% in
entertainment. If he spends 10% of the balance in the donation, then what is his saving in a
month?

(a) ¥ 250 (b) ¥ 230 (c)¥ 270 (d) ¥ 300

. Uep ek SO 3T BT 40% (AT HISH W, 15% AT fhRIY TR, 10% UGTS W AT 10% &=t
3T AGI H @ IRAT & | IS I8 F 15000 T IRAT &, A IADT 31 3R 9 sheer: fvat & 2

One person spends 40% of his income on food, 15% on rent, 10% on education, and 10% in
other items. If he spends ¥ 15000. So how much is his income and savings, respectively?

. Udh feh 3TUFIT 3R & 35% foReT IS TR, 15% f_IT TR, 10% HUS W, 10% Ul iR 3 Ay
N T RN & | A I8 A8 H T 4500 T BRAT 8, Tl ol HTRID 3T fpeit & 2

A person spends 35% of his income on food, 15% on rent, 10% on clothes, 10% in petrol and

other items. If he saves ¥ 4500 in the month. What is the total monthly income?

. T fch 1YY 3T BT 40% TEETT Ao IR & el & | A9 BT 50% fhRIT UR g ealT &, A9
30% 3T Hal H W9 Rl & | A I8 718 H T 4200 T B 8, Al Pl H1eHep A1 fbet 82

One person spends 40% of his income on food. Spends 50% of the balance on rent, 30% of

the balance spends in other items. If he saves ¥ 4200 in the month. What is the total monthly

income?

. T fch 1YY 3T BT 40% TEETT Ao IR & el & | A9 BT 50% fhRIT R 39T e &, A9
60% 3= Hal H T BRI & | Il I8 718 § T 1200 Fa PR 8, AT ol H11eTep A1 fbet 82

A person spends 40% of his income on food. Spends 50% of the balance on rent, 60% of the

balance spends in other items. If he saves ¥ 1200 in the month. What is the total monthly

income?

. Uep efeh ¥ UG DT 30% ST U BT < T | A T 37T 0T PoiT T < T 7o 97 8¢ &7 T
31T 5 AT H IRIeR — IRTER die T | IfE Iedep e Bl ¥ 14000 fiiet 8, I b uT gt feber
T T ?

One person gave 30% of his wealth to his wife. Gave half of the remaining to his daughter and
distributed the remaining money in equal shares in his five sons. If every boy gets ¥ 14000. So,

how much money did he have initially?


https://youtu.be/fh1YV1CWQZM

8.

10.

11.

PHR AT AT AT BT 30% HISH TR 20% forsTeil TR TR Y AR BT 70% HbT eI UR T
HRAT & | 57 AT Tl b 918, I UG T 300 T & | PR T el bl AT T &-

Kumar spends 30% of his monthly income on food, 20% on electricity and 70% of the

remaining income on house rent. After all these expenses, he has savings ¥ 300. Total monthly
income of Kumar's is-
(a) ¥ 2000 (b) ¥ 3000 (c) 2500 (d) ¥ 2300 (e) ¥ 3500

. RUET 37U ATRYD BIAGIRT T 25% YRTebl UR e bRall & | il g3 RN BT 75% I8 BHE 3R

HETIEeR & e UR T BRI & | e IHD IR HEM & 3 H T 120 T &, Al s Dl ARID
BHgRT 34T 87

Rohan spends 25% of his monthly scholarship on books. 75% of the remaining amount is
spent on hostel and college fees. If he has saved ¥ 120 at the end of the month, then what is
Rohan's monthly scholarship?

(a) ¥640 (b) ¥680 (c) ¥850 (d)T 1000 (e)¥T 1260

Tep edfeh 31U & BT 50% HIT 3G Y T 3R 30% AT 31T PAAT bl el & | 21 7R BT 80% HTT
foredt o @1 < T ST £ | 919 IS I <afch & URT ¥ 16000 &1 &, aF S9d URT URAY H a7 &
<far oft 2

A person gives 50% of his wealth to his son and 30% to his daughter. 80% of the remaining
amount is given to a trust. Now if the person had ¥16000 left, then what was the amount of
money in the beginning?

(a) ¥80000 (b)¥400000 (c)¥B80O0000 (d)T 40000

U fth & U ¥ 3200 &, T8 25% W TR 2T 8% AT IR G el 7, AN AR BT 40% I ADH
fIARTq T B, S 918 A9 AR BT 50% IT ATEA-HTS W &Y BRa &, A SAD! o AT & ?

A person has ¥ 3200, he spends 25% on food and 8% on breakfast, 40% of the remaining
amount on house rent, after which 50% of the balance is spent on the vehicle, then what is his

savings?



Percentage Part 9:- https://youtu.be/EpudDX0-5IA

. Ue Tk STT 3T T 75% XM T &R T & | JHDI 3R 20% Jhg B IR I8 10 @ H 10%
i PRAT & | T IFeD! s W Tt Tifererd gig BRIT 2 3R IHh iy b1 ifreret fave=m & 2

A person expenses his 75% of salary. When his income grows by 20%, he raises his expense

by 10%. Then what percentage increase in his savings? And what would be the percentage of
its savings?

. U Afh AT IR T 75% TN TY B Sl § | AT ST 3T 20% ¢ AT & 1R T8 T H 15%
gfg PR AT & | TSTAR IHD! gae H febeT Hferer gfe e Siei?

A person expenses his 75% of salary. When his income grows by 20%, he raises his expense

by 15%. Then what percentage increase in his savings?
1
(a) 33% (b) 335% (c) 35% (d) 40%
. U Afh BT ATRA® da 13,500 & 3R IFDT A1RIS T 9000 81 3Tet a¥ IAHT da 14% §¢ AT §
3R I T 7% TG ST &, T IFDT o H I g St

The monthly income of a person was ¥ 13,500 and his monthly expenditure was 9,000. Next

year his income increased by 14% and his expenditure increased by 7%. The percentage

increase in his savings was:

. PIS Afh U 37T T 80% Tl DR & | T Tl H gl b DRV Ih @ H 37.5% T gl o7l
I 3T & x% Eﬁgﬁg’%ﬁﬁ?%l&%wwﬁﬁaﬁﬂéaﬂﬁé% &, dl x T 91 &7 81T 2

A person spends 80% of his income. Due to the increase in new expenditure, an increase of

37.5% in its expenditure and an increase in its income by x%. If the new savings of that person

5
is 5;%, what will be the value of x?

(a) 16%% (b) 122% ©) 10&% (d) 10%%
. R P T JAT 9 BT AU 5 : 3 & | T IHDT 3T 12% ¢ STl &, 3R T 15% 9 STt &
DT et fepereTT fereret gt 2

Ram's expenditure and savings are in the ratio 5: 3. If his income increases by 12% and

expenditure by 15%, then by how much percent does his savings increase ?
(@) 12% (b) 7% (c) 8% (d) 13%


https://youtu.be/EpudDX0-5IA

Percentage Part 10:- https://youtu.be/lOZrtBYx4Uo

. T& Tiq T GO TETET 121000 8 | IS $hT JATaTaT Hicras 10% aTfties X A 9@ 81 81 df 2 99 gd
ey T ST fahat off 2

The present population of a village is 121000. If its population is growing at an annual rate of

10% per annum then what was the population of the village two years ago?

(a) 100000 (b) 100100 (c) 112000 (d) 221000

. I bRt TR T T SIRIAT 40000 2, 3R gig &R 10% Tfcrad 8 ar, 2 99 a18 7R &Y ]
T BT 2

If the present population of a city is 40000, and the growth rate is 10% per annum, then what

will be the population of the city after 2 years?

(a) 40800 (b) 48200 (c) 48000 (d) 48400

. Tt e T STHRIEAT H Ut A 5% T i AT §AR IY 5% b1 g3 | Tl R A b 3 § gD
SIRIET 7980 &, AT Ugel aY & YR H SieiveaT fohar eff?

The growth of the first year in the population of any town was 5% and the second year was

reduced by 5%. If its population at the end of second year is 7980, then what was the

population at the beginning of the first year?

. Tt 9TeR &t STRIAT A Ugel A 5% i i AT TR a9 5% DHI §S | Afe IR A ob 37T H b
SRIAT 9975 &, Al U8l aY o URW H ST febereit 2ff?

The growth of the first year in the population of any town was 5% and the second year was

reduced by 5%. If its population at the end of second year is 9975, then what was the
population at the beginning of the first year?

. Teh TR T STARIEAT 100000 & S 48% Rt & iR A9 gy & | Afes ol 7 55% &a%ap &, af
D G| DT AT T 57

The population of a city is 100000 in which 48% are women and the remaining are men. If

there are 55% of the men are adults then what is the number of adult men?

(a) 25700 (b)28400 (c) 32300 (d) 28600 (e)35400

. Tl TR <1 3,00,000 T STRIEAT § 1,80,000 YN & | fTHH 50% SAEIT AR & | I 70% G097
TER &Y, T ATeR AfSeTal T [T e aift 2

There are 180000 men in a population of 300,000 of a city. In which 50% of the population is
literate. If 70% of the men are literate then the number of literate women will be -

(a) 30000 (b) 54000 (c) 24000 (d) 60000

. T [feT <hT SRR 296000 &, FIH I 166000 YN &, et ST BT 50% T RIférd 8, afe
QRN T 70% T ffére &, A Rifére et bt T febeit & 2

The population of a district is 296000, out of which 166,000 are men, 50% of the total
population is educated, if 70% of men are educated, then how much is the number of educated

women?


https://youtu.be/lOZrtBYx4Uo

8. forddt TR T SARET 80000 &, IfS 3T+ frfara cafehat it T 5 6% T NfIfard afar dr
GEATH 10% gl B T PpeT STIEAT 86000 &I SIRFT, T STRIfareT eafchal & 3TRew & |en
fepeir off 2
The population of a city is 80000, if the population of 6% in the number of educated people and
10% increase in the number of uneducated persons becomes 86000, then what was the
number of uneducated persons at the beginning?

(a) 45000 (b)40000 (c) 30000 (d) 60000

9. Uh TR I ST 15000 & | Al ITH GouI BT AT H 8% R AT T Geear § 10% 1 gig &t

STTY, Y STRIEAT ggehR 16300 Bl ST | TR I TR H RedT bt G il HIffy |

The population of a city is 15000. If there is an increase of 8% in the number of males and

10% in the number of females, then the population will increase to 16300. Find out the number
of women in that city.

10. Ueb T8R T STAGEAT 9000 & | N T AT 8% 3R AR bl TEAT 5% e, Tl STGEAT 9600 &
SRR | Y ereR 3 st By e et & 2

The population of a city is 9000. If the number of men increased by 8% and the number of

women increased by 5%, then the population will increase to 9600. So how much is the
number of men in the city?
(a) 5000 (b) 4500 (c) 4000 (d) 3500

11. U& Telq H ST Bl GeeaT Ifidy 10% §¢ St & | IS TR H AT Y AT 500 & aF v af
& URY H foha e 8 ST 2

The number of members in a club increases by 10% per annum. If there are 500 members in

the beginning, then how many members will be in the beginning of the third year?

12. & 7l H 64000 frart 8| zr%aq@wqﬁgaqz%% q1fep &1, a1 3 a9 & 37T A el H fober
feraredt 82

1
A district has 64000 inhabitants. If the population increases at the rate of 2 E% per annum,

the number of inhabitants at the end of 3 years will be:
(a)70000 (b) 69200 (c) 68921 (d) 68911

13. e 7I1q bl SIRI%EAT Hicreay 25% T SR A qeil 81 (S 3 a¥ o 37 H g T SFAEAT 10,000 8, Al
Bl TET & VBT H 1 bl ST feberit off?
The population of a village has increased annually at the rate of 25%. If at the end of 3 years it
is 10,000, the population in the beginning of the first year was:
(a) 5120 (b) 5000 (c) 4900 (d) 4500



Percentage Part 11:- https://youtu.be/ssEN4OgLCDQ

. Teb BRI SIRIET 8000 2ff1 Teb gy H G} bl HEAT 10% TAT ASAT3N DT AT 8% 9 SNt &
olfeheT et ST 9% el &, T ATex H YRau bl e o off 2

In a town, the population was 8000. In one year, male population increased by 10% and

female population increased by 8% but the total population increased by 9%. The number of
males in the town was:

. Ueb &R T ST 3,11,250 81 AEAT3AT 72T JouT T SFUTT 43:40 81 Al AfdeAran 7 24% Rifér
& AT T2 7 10% FRER 8, aF erax H Rfaral Pt Fear T 8 2

The population of a town is 3,11,250. The ratio of women to men is 43 : 40. If there are 24%
literate among women and 10% literate, among men, the total number of literate persons in the
town is:

(a) 1,70,700 (b) 1,73,700 (c) 1,75,700 (d) 1,73,200

. 2 Y Ugel Udh MEX Pl SRR 62,500 2ff | T &N Y 3R TAFTARUT & HIRUT Uiy SIiveaT 4%
& SR T 7, AT SR DI I ST fohe T & |

The population of a town 2 years ago was 62,500. Due to migration to big cities, it decreases

every year at the rate of 4%. The present population of the town is :

(a) 57,600 (b) 56,700 (c) 76,000 (d) 75,000

. Ud 9TER T SHRIRET Ufiay 4% daclt 81 A TRy & T&” & SIHRiveaT 5,0000 off, dF 2 9 & 91 9Tex
& AT T 812

The population of a town increases every year by 4%. If population was 5,0000 in starting ,
then after 2 years it will be :

(a) 53,900 (b) 54,000 (c) 54,080 (d) 54,900

. Tt ISR @1 Her miferad 20% = & 1 A1 3 9 & a1e I ISR BT Je fbeT b 81T 2

The value of an equipment depreciates by 20% each year. How much less will the value of the

equipment be after 3 years ?

(a) 48.8% (b) 51.2% (c) 54% (d) 60%
. Uep 71T T Ho 6250 & | U8t A H 39T o 10% IR Y § 20% AT IR a9 H 30% Hed &,
ar 3 99 & 91 HefIT T o AT BT ?

The value of a machine is 6,250. It decreases by 10% during the first year, 20% during the
second year and 30% during the third year. What will be the value of the machine after 3 years

?

(a) 2,650 (b) 3,050 (c) T3,150 (d) 73,510


https://youtu.be/ssEN4OqLCDQ

. U HeH T Hed ufcrad 5% wear 81 s 7l & oM e 2,00,000 &, AT 2 a9 & g47e] 71+ &1
T T BNI?

value of a machine depreciates by 5% every year. If its present value is ¥2,00,000, its value
after 2 years will be:

(a) ¥7180500 (b) ¥1,99,000 (c) ¥7180000 (d) ¥2,10,000

. T AY AT & I H 5% DI G §s | AT IHDT IH I 1,806 &, AT el gy IFehT de
fepeT orr?

Raman's salary is increased by 5% this year. If his present salary is 31,806, the last year's

salary was

(a)¥1720 (b) ¥1620 (c) 1520 (d) ¥ 1801

Percentage Part 12:- https://youtu.be/Cul4drWisNDo

. Uep [T BT I BTSN bl Gl H 30T 3 : 2 §, I 20% BH 3R 30% BT BHGRT ol
&, A1 BEgf T8l o dTet [enfRiT &t ufrerd fover & 2
In a school the ratio between the boys and girls is 3 : 2, if 20% of boys and 30% of girls takes

scholarship, So what is the percentage of students who do not take scholarship?

(@) 50% (b) 72% (c) 75% (d) 76%
. T PletoT H oT$d IR Sl Bl T 7 U 9 : 11 8, AR Dl H 50% 31K FTfpal 4 40%
thet 1 71, A febe mfcrere feremeff ure g 2

The ratio of boys and girls in a college is 9 : 11, if 50% of boys and 40% of girls failed, how
many percent of the students passed?

. Tt arer o aT=apl 7 40% STIfR 8, e sl ¥ 85% e &, afs st iR adl &7 3rgura
2 : 3 8, al ST o fopaem ufcere forfara & 2

In a city, 40% of the adults are uneducated, whereas 85% of the children are educated, if the

proportion of adults and children is 2: 3, then what percentage of the population is educated?
(a) 20 % (b) 75% (c) 60 % (d) 50%

. T ORIET 1000 ISP AT 800 FSIHAT <Mt BNl 81 TS 60% TS TAT 50% ST il Breft
&, AT STRITOT AT SRAHS BIAT DT TfTeIT 1T N |

In an examination, there were 1000 boys and 800 girls. If 60% of the boys and 50% of the girls
passed. Find the percentage of the failed candidates ?

(a) 46.4% (b) 48.4% (c)44.4% (d) 49.6%

. U Diciol H ofgd oI el T AT BT U 3:2 & | T 20% TTSh TAT 25% TSIhAT gaReh
&, T fore= ufrerd & JaRa 18T 87

The ratio of the number of boys and girls in a college is 3:2. If 20% of boys and 25% of girls
are adults, the percentage of those students who are not adults is:

() 58% (c) 78% (b) 67.5% (d) 82.5%


https://youtu.be/Cul4rWlsNDo

. U ferTery H oTgd qei el T 3FUTd 4 : 1 8 | IS 75% TS AT 70% TS(hdl bl BHGHRT
fiyeet &, Y O BT T Tt @ 8, s e ity et e 2

The ratio of the number of boys to that of girls in a school is 4:1. If 75% of boys and 70% of the
girls are scholarship-holders, then the percentage of students who do not get scholarship is:
(a) 50% (b) 28% (c) 75% (d) 26%

. U TRIET 5 640 TS AT 360 ASIhAT MM BIHT 81 TS 60% TS AT 80% TS (hd Ahet T&T &
AT 3rAhel BT BT Ffcerd ST

In an examination there were 640 boys and 360 girls, 60% of boys and 80% of girls were
successful. The percentage of failure was :

(@) 20% (b) 60% (c) 30.5% (d) 32.8%

. U fORner & 2 |iell 3 LT 100 TRAT 75 BT U URIET H AT Bl 8l 34 A el 75% 0T
60% BT et BT &, A Ahera i AT SR ST IR?

In two successive years 100 and 75 students of a school appeared at the final examination.
Respectively 75% and 60% of them passed. The average rate of pass is:

(a) 68%% (b) 78% (c) 80% (d) 80%%

. T TTa A o1 oI TSIl T SFUTA 3 : 2 81 UM 30% TSP AT 70% TTSIhAT T W& & QMMeyet
BICiT &, 1 ORT&T &1 aTel Tiq o N1 T ORTET el & aTel 1d < TN bl SFUTTT ST N 2

The ratio of the number of boys to that of girls in a village is 3: 2. If 30% of boys and 70% of
girls appeared in an examination, the ratio of the number of students, appeared in the
examination to that not appeared in the same examination is

(a) 1:1 (c)9: 14 (b) 27 :23 (d)23:27

Percentage Part 13:- https://youtu.be/LMydLv8yDmg

. %ﬂwsﬁﬁﬁé ﬂwgﬁrawéwmtr%w@%, TIT Y e &, qod| T Pl AT ST DT Pl =T
o febefT Tferare & 2

1 1
Out of the audience, P are men and 3 are women, and the remaining are children, what is the

percentage of the total number of children among all audience?
1
(a) 90% (b) 335% (c) 70% (d) 40% (€)50%

. a‘r@wsﬁm‘raﬁw%@ﬁm?ﬁr%% | Y SR AT, U AT T fepeieT Hfcrere 81T 2

28
Sum of two numbers is o5 of the first number. So the second number will what percentage of

the first number?
(a) 12% (b) 16% (c) 14% (d) 18%

3
?JﬁAElv‘r(SO%:BEFrZET,FﬁA:B?

3
If60%ofA=Z of B,then A: B =7
(a)9:20 (b)20:9 (c)4:5 (d)5:4


https://youtu.be/LMydLv8yDmg

. A, B 3R C & Ic T 3FJURT HT: 2:3: 58 | B 3R C P a1 BT AN ¥ 8,000 &, AT C BT I A
& I o1 et Hferer & 2

The ratio of the salaries of A, Band Cis 2 : 3 : 5, respectively. The sum of the salary of B and

C is ¥ 8,000, then what percentage of C's salary is of A?

(@) 250 % (b) 100% (c) 200 % (d) 150%

. 2 TR BHT A TR B T 3T BT AU 4 : 7 8 | BH A P 31 50% 96 STl & 3R BH B Bl
3T 25% BT SATCH & | A ST BT bl 3 IR H F 4500 BT 3R &, AT B DT HeT 37 T ff 2

The ratio of income of 2 business firms A and B is 4: 7. Income of firm A increases by 50% and

firm B's income decreases by 25%. If the difference in the new income of both the firms is ¥

4500, what was the basic income of B?

(a)T49000 (b)¥ 28000 (c)¥ 42000 (d)T 31500

. ST HEIT3N BT AU 4 : 5 81 ST T8l AT 20% TS S & oI ORI FEAT 20% HSRT Sl &,

Y 319 7T ST AT BIT 2

The ratio of two numbers is 4 : 5, when the first is increased by 20% and the second is

decreased by 20% , then the ratio of the resulting numbers is:

(a) 4:5 (b) 5:6 (c) 54 (d)6:5

. DIABIAT  ford) T & foTu s fohRTaT oIt o fOhRTaIT ShHeT: T20 T T30 81 o v § 20% Pl

o1 9 THRRI A 10% b gfeg 81 STl 8, AT 7 S PRI TIT 7 997 fhRRY T SFUTT ST R ?

The bus fare and train fare of a place from Kolkata were ¥20 and ¥ 30 respectively. Train fare

has been increased by 20% and the bus fare has been increased by 10%. The ratio of new

train fare to new bus fare is:

(a)11:18 (b) 18:11 (c) 5:3 (d) 3:5

. S TS T U 5:4 81 AfS Ygel AT BT 40% 12 &, A1 TERT GEAT BT 50% AT B2

There is a ratio of 5:4 between two numbers. If 40% of the first number is 12, then what would

be 50% of the second number?

(a)12 (c) 18 (b) 24 (d) Data Inadequate

AT U3 & Solution/Answer & foU fou 1 foiar & fafsar o |
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Percentage Part 14:- hitps://youtu.be/6RcezytB5HY

1.

I 7% THD dTet 12 oicx ©ieT Pl ST DY 4 lIex UTHT BT a1fead o T SR, dF 99 9 &l §
TH 1 ufrerd ford=T 81 2

If boiling 12 liters of solution containing 7% salt 4 liters of water is evaporated, then what will

be the percentage of salt in the remaining solution?

5 IR B1cT H 40% UedIed & | A 3TH 1 ies i 3R e S, ar Y e 5 faa=r ufcrera
Tehieat BRI ?

There is 40% alcohol in the 5 liter solution. If 1 liter of water is mixed in it, then what
percentage of alcohol will be in the new solution?

Teh G-It H 26% e &, 91kg TTET UTH e & fo1q fpd=T wafeiT @y 2

There is 26% copper in a mineral, how much minerals should it be required to obtain 91kg
copper?

Uep 81T A 12% qIaT &, a1 69 fob.aT. el uT o fofy febeT vy er) &t STovet 81t 2

In an alloy, there is 12% of copper, to get 69 kg of copper, how much alloy will be required ?
2
(a) 424 kg (b) 575 kg (c) 828 kg (d) 1736 3 kg

25 TICR TH® & Uep bleT § THD DI AHT 6% & | T&TAR I 8iet H fobe=T urT 3R it fam Sy o
THe bl HAT 5% & Y ?

The amount of salt in a solution of 25 liters of salt is 6%. Accordingly according to the solution,
how much water should be mixed so the quantity of salt will be 5%?

(a) 8 liter (b) 6 liter (c) 3 liter (d) 4 liter (e) 5 liter

200 ©fT. & Tep fH8107T H 15% U cTIT A1 g 81 9 o107 A fepefeiT g fHetrar S fop 2 fovsqor o
87.5% U &l ?

200 litres of a mixture contains 15% water and the rest is milk. The amount of milk that must be
added so that the resulting mixture contains 87.5% milk is:

(a) 30 litres  (b) 35 litres (c) 40 litres  (d) 45 litres

75 IT9 & AT & b1t § 30% AT & | A &liet 5 fova =T STeft AY fos 72 8t § 70% AT 812

75 gm of sugar solution has 30% sugar in it. Then the quantity of sugar that should be added
to the solution to make the quantity of the sugar 70% in the solution is :

(a)125gm  (b) 100 gm (c) 120 gm (d) 130 gm

300 I AT & BIT H 40% T & | 55 fohaT AT iR el S anfey 9 98 39 9idt
50% & STTY?

300 grams of sugar solution has 40% of sugar in it. How much sugar should be added to make
it 50% in the solution?

(@)10gms (b)60gms (c) 40gms (d) 80gms


https://youtu.be/6RcezytB5HY

Percentage Part 15:- https://youtu.be/Jz2QLEcMKJE
. T T eqReer 5 35% & faifehedT UR & 81T & al ey UTS-fel H ehIur 8 :-

If 35% money is spent on medical treatment in an arrangement, then the angle in the

corresponding pie-picture will be: -

(a) 252° (b) 108° (c) 126° (d) 136°

. U fesg 7 100 et Met, 50 ATt Mot 3R 50 BTet Mot & | 25% et Mt 3R 50% et Mot fierad
foTT 7T | T eBre et T Hfyere &:

A box has 100 blue balls, 50 red balls and 50 black balls. 25% of blue balls and 50% red balls

were removed. Then the percentage of black balls is:
1
(a) 40% (b) 50% (c) 25% (d) 335%

. Wﬁwﬁ%waﬁ%ﬁwmﬁ%a&ﬁzﬁgﬂﬂwéﬂ%aﬁ O 26T Hfcrere 3fe fpa & |

3 5
A student multiplied a number by = instead of 3 What is the percentage error in the

calculation ?
(@) 74% (b) 54% (c) 64% (d) 44%

. A, B 50% 31 & | C,A BT %%HQJTD, C A 60% 311 8, 31 A,B,C T2 D U 10% &1 Ifg
BT & 1 A D,B T T wfcrerd & (gfg & e ) 2

2
A is 50% more than B. C is 3 of A, and D is 60% more than C, now A, B, C and D increase by

10% each. So what is the percentage of D as compared to B (after increase)?

(a) 150% (b) 175% (c) 160% (d) 176%

. T DleroT § 40% BT T JU A T 71T, 919 & 75% T JU B 1 17 3R 29 12 B &l 7 C
T | BTAT T Pl AT el & 2

In a college, 40% of the students were given group A, 75% of the remaining were given group
B and the remaining 12 students were given Group C. What is the total number of students?
(a) 92 (b) 100 (c) 60 (d) 80

. 31T 500 37T ATet fHet TRIeT o A @I B & 10% $HH 3id fHiel, B BT C A 25% 3Mfedh 37 fifet,
3R C 3T D A 20% HH 37 fifet | A A BT 360 37 fiel , AT D &l fovae Hferera aie fiyet 2

In any examination with maximum 500 marks, A got 10% less marks than B, B got 25% more
marks than C, and C got 20% less than D. If A gets 360 marks, how many marks do D get?
(a) 65% (b) 70% () 75% (d) 80% (e) 85%


https://youtu.be/Jz2QLEcMKJE

7. S ARRAT A 3R B & HeT da =T & U] ST Pl Ia SRISR & | I I IIcb AT &b AT
65% AT 80% & | I7Ih HeT a1 T AU $HHST: febeT BIT 2

The basic salaries of two persons A and B are different, but their total salaries are equal. Their

allowances are 65% and 80% respectively of their salaries. How much will the proportion of
their basic salaries be respectively?
(a)13:16 (b)8:9 (c)12: 11 (d) 80 : 65

8. o fammeff oo of T fasa  90%, 60% oI 54% 3ieh UTH HRalT & | Afe g TRy & T 37eh ShHar:
100, 150 RIT 200 & AT IHDT et TfTere febeT B1TT 2
A student gets 90%, 60% and 54% marks in three subjects. If the total marks of these subjects

are 100, 150 and 200, then what is the total percentage of these three subjects?

(a) 64% (b) 68% (c) 70% (d) None of these
9. P 3R Q IR SHATIUI i GcHD & A P A 100% T g Bl &, T4 Q H fbefit et sift
?

P and Q are mutually inverse and positive, if P increases by 100%, then how much will there

be decrease in Q?

(a) 200% (b) 50% (c) 150% (d) 100%
10.12, 22, 32......, 20162 ¥ fohaT Ufcrera A O & s i 5 2 8 2
How much percentage of numbers in 12, 22, 3%......, 20162 are there having 2 in the end ?
1
(A) 50% (B)33-%  (C)2% (D) 0%

11.Teb g1 o I fofRa o7 b Ugell S o R 30%, ORI ST o TR 50%, TIRIRT S &t 0 80%
TIT =TT ST~ v H T SITQT | Yep eaifeh Ugetl S 700, SRRT ST $ 800 &TeT, TRy Siteq
% 2,000 &TETT AT AT SI=F T 4,000 ITeAT THE PRAT & | T S PeT febei=IT JII DRAT TS 2

In a shop it was written that if one takes first Jeans then 30%, for second Jeans 50%, for third

jeans 80% discount and fourth Jeans will be given free of cost. A person chooses first Jeans of
700, second Jeans of ¥ 800, third Jeans of ¥ 2,000 and fourth Jeans of ¥4,000. Then total
how much amount he will have to pay ?
(A)¥1,210 (B)¥1,290 (C)T5,290 (D)Z5,210

12. Tep URIEIT 5 X 372 I 20% 3171 febe] 12T I 10% PH 3ieh UTH PRAT & | A A2 b GRT UTH
37 1080 &, TT ITSIeT P GIRT TITH 3T BT 1T T & Saifeh et 37eb 2000 & 2
In an examination, Ram gets 20% more than Ashoka but 10% less than Rajesh. If the score
obtained by Ashok is 1080, what is the percentage of points obtained by Rajesh while the total
score is 20007

(A) 72% (B) 78.33% (C)77.77% (D) None of the above



13. 4 AT TAT5 AH BT g T35 & | AF b Fod H 40% DT i AT 3777 &b Jod H 40% T 4T ATl & |
I 4 [ TAT 5 37 DT AT He T 29 8, AT Wb AT AT T 3T bl Pl o AT BT ?
The price of 4 apples and 5 mangoes is ¥ 35. The price of apples increases by 40% and the
price of mango decreases by 40%. If the new price of 4 apples and 5 mangoes is ¥ 29, then
what will be the total value of an apple and a mango?
(A)X7.50  (B)T10 (C)3T4 (D)X 8

Percentage Part 16:- https://youtu.be/KVaEuPovTJQ

1. fohehe S & Hea s ger &) R Four oY HIFT BT SERT 10% =er far 7 ar sifed Hiaa
URRYS Hiad B fha mfererd artt 2

If the price of cricket bat was reduced to half and the resulting cost was reduced 10%, then

what percentage of the initial price would be of the final price?
(A) 10% (B) 30% (C) 45% (D) 65%

2. 1 {10 T A TEATINT BT UfTeId a7 572
What is the percentage of prime numbers from 1 to 10?

3. fopdt o & |TE & &t | fobe Tfcrerd Y gfeg BT ST 3ehT Hediep T & Uil & & SATel & 2
The percentage increase in the sur face area of a cube when each side is doubled is:
(@) 200% (b) 300% (c) 150% (d) 50%

4. C &Y, BH 20% 3w & 3R B HY 311, A | 25% 31fIa &, AT C &l 317, A F e miferera
31t & 2
The income of C Is 20% more than B's and the income of B is 25% more than A's. Find by how
much percent is C's income more than A's ?
(@) 150% (b) 50% (c) 25% (d) 35%

5. Qe ORIET H < 4wy & iR Uiep o STferesc™ 31 100 & | Wb BIF Ugel [0 H 60% T S vy
T 80% 3 UTH DRT &1 I Pl 70% 3ieh UTH BIdl &, AT i FIey # I febeT HfcrereT 37 U U 2
In an examination there are three subjects of 100 marks each. A student scores 60% in the
first subject and 80% in the second subject. He scored 70% in aggregate. His percentage of
marks in the third subject is:-
(a) 80 (b) 60 (c) 65 (d) 70

6. TP IS T H 60% US ATRISA & & | ATt &b TSI dhl TET & 25% U 31T & IS & 3R 317 & vt
I AT & 20% US U9 & US 8 | IS A P UST 6T AT 1440 &, AN Sl § PeT b U 872
In a big garden 60% of the trees are coconut trees. 25% of the number of coconut trees are
mango trees and 20% of the number of mango trees are apple trees. If the number of apple
trees in the garden is 1440 then find the total number of trees in the garden:
(a) 48000 (b) 50000 (d) 45000


https://youtu.be/KVaEuPovTJQ

7. Il 16 fRAT BT PeT ATRYD AT 80,800 & 3R ITH I Wb & 311, AT AT BT 120% 8, Tl SFhT
3T et & 2
If the total monthly income of 16 persons is 80,800 and the income of one of them is 120% of
the average income, then his income is:-
(a) ¥ 5,050 (b) 7 6,060 (c) 36,160 (d)

8. e Sectdral ¥ 110 37 911N SR 3 i TTiT 8 B QMMHeT o, T ST Pl IAT &b fdbeiT Hicrerd I
glgax SFTT?A batsman scored 110 runs which included 3 boundaries and 8 sixes. What per

cent of his total score, did he make by running between the wickets ?
5 6
(a) 45% (b) 453% (c) 54E % (d) 55%

9. IS fopedt RI=T T 31T 20% ST ST STV AT &R 5% ©T ST S0 ot ¥ &7 g\—rna"r% ar aRdfad
T T &2

If the numerator of a fraction is increased by 20% and the denominator is decreased by 5%,

5
the value of the new fraction becomes > The original fraction is:-

10. TS IS Tfh TT ITTT BT 40% T TR, 20% HbT AR TR AT BT 70% Foil bl 3781 Ok @
PNAT &, T ITDT IR BT fhe=T Ufererd s=m?

If a person spends 40% of his income on food, 20% on house rent and 70% of the remaining
on children's education, then the percentage of his income left is:-
(a) 6% (b) 8% (c) 10% (d) 12%

11. I 3191 & PrATT BT TFHY AHIR A YR 9 FoT GaIg A 5 Il AT T &, Tl I8 YX FHIE BT
faraT frere SIRT 31ue SHraferd # el avar 82

What percentage of the whole week does Ajay spend in office, if his office hours are 9 am to 5
pm from Monday to Friday?
(2)33.33%  (b)23.81% (c) 25.86% (d) 42.23%

12. TSN el 5 68% TTHT & TIT IR el § 20% UTHT &, T 100 .37, 1T el 3 foberT et 1 % et

fe1epTel ST Hepal 272

Fresh fruits contains 68% water and dry fruits contains 20% water. How much dry fruits can be
obtained from 100 kgs of fresh fruits ?
(a) 32 kgs (b) 40 kgs (c) 52 kgs (d) 80 kgs
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